REEHATIRGL  S5F12H 5 R
N B H HAT H wiTE | SR HEL - 1THEL %
et M H oret 0 0
e
R Bt 20,000 2 IF
s et M H oret 0 0 14
S Rt 33,880 2 1
, M H oret 0 0
P M H oret 0 0 14
wiLomy PO Rt 120,000 e
R5.12.8 PSIk S 5,000 fif] WL HT AT S AT RIRER S
R5.12.12 | PRIl 5= 5,000 | Wk i BUCF AT R SR
DOBH R5.12.14 S 5,000 [#if] b i R R IRR=
S H 0EE 15,000 3 ftk
it 145,700 20
, A E 0 01
Z DOt EALARE e 35.090 e
R5.12.13 | HBF R 43,680(EE RS B SR (THR) B 2
S R5.12.18 | 6,240 [ [E v 0 — T He R H S () (] e il 2
CEL WA 32 49,920 2 1
Rt 56,160 3k
N e AR 0 01
SR KA @3
A E 0 01
D °
Z DA En 0 0 14
A . 2 H ot 64,920 5
i " el 410,830 32 {F




